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Across 13. Transitive verbs have a

2. A sentence requires a
subject &

5. The subject is

understood and not stated.

8. Predicate adjecties
descibe the

9. An verb

does not have a complement.

12. A noun
renames/identifies the
subject.

complement called

14. _sentences end with an

exclamation point.

Down

1. WW.

sentences
make a statement
3. Compound predicates
share the same
4. _sentences give a
command.

6. Compound subjects
share the same

. order occurs
when the subject appears
after the predicate

10. In the pattern
S-be-Advl, the is an
adverb or a prepositional
phrase needed to complete
the sentence.

11. A(n)

object never
follows a preposition.
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